Development Homework WEEK 2

Study Figure 1, which shows the Demographic Transition Model (DTM).

Stage 1 Stage 2 Stage 3 Stage 4 Stage 5

5 o
@ 25 40 =
g 20 32 @
o =
S °
= -
= 15 24 o
a =

o
£ 10 16 3
: C
= 0]
E 5 8 ©
m] =

0 0
Time
Birth rate

Death rate
Total population

Frojection

1) Using Figure 1, which two statements below are true (2)
a) Countries in stage 5 experiences natural population decrease
b) Population growth is fastest in Stage 1
c) The death rate in countries in Stage 3 is rapidly falling
d) Countries in Stage 2 have a low population growth

2) Give 1 reason for a high death rate in Stage 1 (1)

.......................................................................................................................................

4) Figure 2 shows birth and death rates in Morocco
Using Fig 1 and Fig 2 assess Morocco’s level of economic development. Justify your answer

................................................................................................ Fig 2:

Birth Rate 18.2
Death Rate 4.81
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GEOGRAPHY SKILL QUESTION:

9.7, 2,48 3,3, 2,93

1)

Mean Median Mode Range

Help: Use geogbarrbeacon.com to research on mean, mode etc if unsure




